
West Bengal Polytechnic Entrance Examination JEXPO 2012 
Mathematics Questions Papers 

  

1.                                3 : 4 : 5 ।                               - 

(A)        (B)         (C)       (D)  

  

2.      r cosθ = 1, r sinθ = √3        θ -           - 

(A)        (B)        (C)         (D)  

  

3.         ,          

(A)        (B)        (C) x (D) x² 

  

4.         ,     sec α + tan α -           - 

(A) 2 - √3       (B) 2 + √3       (C) √3 + √2       (D) √3 - √2 

  

5.   -   স ল           - 

(A) 1       (B) 2       (C) 3        (D) 4 

  

6.  O                            ।     ∠ ACB = 50°   ,      ∠ APB     

(A) 130°       (B) 110°       (C) 100°       (D) 80° 

  

7.                    ABC -   ,            ল           ল        D, E ও F,     

Δ DEF : Δ ABC     

(A) 1 : 2        (B) 1 : 3       (C) 2 : 3       (D) 1 : 4 

  



8.          স ল         স       (concentric)             A ও B                   C ও D            
   ,     

(A) AC = BD       (B) AB = CD       (C) AD = BC      (D) AC > BD 

  

9.  Δ ABC -          O,   ও          ∠ BAC = 85°     ∠ BCA = 55°      ∠ OAC -           

(A) 40°      (B) 45°      (C) 50°       (D) 55° 

  

10.                                     3  স  , 4  স       5  স   ।               স        

(A)  2 cm       (B)  cm        (C) 1 cm       (D)  cm 

  

11.  Δ ABC    ল      O     ∠ BOC = 120°   ল ∠ BAC -            

(A) 80°      (B) 60°      (C) 90°      (D) 75° 

  

12.  4.2                                 স                       ল                ও        স   

         

(A) 19.808               (B) 19.202               (C) 19.404 ঘন একক       (D) 19.303        

  

13.             স                                                       5 : 3                       

    45° ।                          

(A)         (B)        (C)         (D)  

  

14.   30√3                                                       ও                            30° ও 

60°   ল,                   

(A) 20√3              (B) 10√3             (C) 15√3             (D) 25√3       

  

15.  3  স  , 4  স   ও 5  স      স               স        ল      ল        ড়  স        ল            ল । 
 ড়    ল       স        

(A) 9  স         (B) 8  স         (C) 7  স        (D) 6      

  



16.                        65°       ল,                                    - 

(A)        (B)        (C)        (D)  

  

17.                ল ও                  ল      স    ।          স               - 

(A)        (B)         (C)        (D)  

  

18.  cos (- 200°).sin 160° + sin (- 340°). cos 380° -           

(A) 1      (B) 2      (C)        (D) 0 

  

19.         ,     ল  -           

(A)        (B)        (C)        (D)  

  

20.   6, 0, 5, 3, 2  ই                   স              স     স                                  ও       

স             ল    - 

(A) 44694       (B) 44964       (C) 44494       (D) 49644 

  

21.      p = 301   ,     ল p(p² - 3p + 3) -           - 

(A) 20700001       (B) 72000001       (C) 27000010       (D) 27000001 

  

22.       x = r cos θ cos φ, y = r cos θ sin φ     z = r sin θ   ,     ল x² + y² + z² -           - 

(A) r        (B) - r²       (C) r²        (D) 1 

  

23.  A     B ও C        স                  ।         A ও B      7     20            C 44      

               । B               - 

(A)            (B)             (C)            (D)      

  



24.          ,     ল x -           - 

(A) 5       (B) 0      (C) 6       (D) 8 

  

25.         ,     ল p -           - 

(A) x       (B)        (C)        (D)  

  

26.    ই                  স                                            3    ।                    

   ল      স     ও   ল স                4 : 7 ,     ল   ল স          - 

(A) 96      (B) 52       (C) 63       (D) 36 

  

27.  K -      স ল           (x + 1) (x + 3) (x + 5) (x + 7) + K²                    স  ল  ল - 

(A) 6, - 6       (B) 4, - 4       (C) 4, - 2       (D) 6, - 4 

  

28.                    স            স    194   ল, স      ল     - 

(A) 5, 6, 7      (B) 7, 8, 9       (C) 4, 5, 6      (D) 6, 7, 8 

  

29.  1.1, (1.1)², 0.1, (0.1)² স      ল             স         - 

(A) (0.1)²       (B) (1.1)²      (C) 0.1     (D) 1.1 

  

30.     ল  স     স      স      স  স     4                             স    ল      ,                স    ল 

         16          ।   ল   স  স        - 

(A) 256       (B) 546       (C) 576       (D) 426 

  

31.       স                    - 

(A)              (B)                 (C)              (D)      ই    

  

32.  x16 - y16 -                 - 



(A) x2 + y2     (B) x3 + y3       (C) x6 + y6      (D) x6 - y6 

  

33.  (58)a = (5.8)b = 10c    ,                স     স   

(A)      (B)      (C)      (D)  

  

34.      x sin³α+y cos³α = sin α cos α     x sin α - y cos α = 0   ,     x² + y² -        ল- 

(A) 1      (B) 0       (C) - 1       (D)      ই    

  

35.  4 tan²θ + 9 cot²θ -   স              

(A) 0       (B) 6       (C) 12      (D) 4 

  

36.   -   স             

(A) 3       (B) 4       (C) 9       (D) 14 

  

37.      x = a(cos θ + sin θ), y = b(sin θ - cos θ)    ,      -           

(A) - 2      (B) 1        (C) 1      (D) 2 

  

38.      2 cos²θ + 3 sinθ = 3, (0° ∠ θ  ∠ 90°)   ,      θ-          - 

(A) 30°       (B) 60°       (C) 45°      (D) 75° 

  

39.              ,  -          - 

(A)       (B)       (C)      (D)  

  

40.  ABCD স          ∠ A = 105°   ল ∠ C -                - 

(A)       (B)       (C)      (D)  



  

41.      স                         120°   ল,             স         

(A) 8      (B) 6      (C) 5       (D)      ই    

  

42.  ABCD              ।       AB ও DC        P               ,     

(A) PA.PB = PC.PD      (B) PA.PC = PB.PD       (C) PA.PC < PB.PD       (D) PA.PB > PC.PD 

  

43.              (concentric)               AB ও AC                    P ও Q               ,     

(A) BC =  PQ       (B) PQ =  BC      (C) PQ =  BC       (D) PQ = BC 

  

44.  Δ ABC -          O, ∠ ABC = 70°     ∠ ACB = 60°   ল ∠ BOC -          - 

(A) 120°       (B) 130°      (C) 140°      (D) 115° 

  

45.     ল                     ল      ল ও        স        স      ল, ঐ           স        

(A) 1            (B) 2 একক        (C) 3            (D) 4     

  

46.          স                ল             

(A)                (B)                (C)               (D)         

  

47.                     24  স                                16  স     ল,      স     ল      ল     

(A) 1530     স          (B) 1532     স          (C) 1536                (D) 1534     স   

  

48.  4  স                                        1024    স     ল             

(A) 64  স          (B) 192             (C) 16  স          (D) 48  স   

  

49.   -          - 

(A) 1        (B) - 1        (C) 2        (D) 0 



  

50.  3x + 4 < 15   ল,    স          

(A)       (B)      (C)       (D)  

  

51.  If (a + b + c)³ = a³ + b³ + c³ + K(a + b) (b + c) (c + a)   ল, K -          - 

(A) 0     (B) 1     (C) 2      (D) 3 

  

52.  If a + b + c = 1, a² + b² + c² = 1     a³ + b³ + c³ = 1   ল a4 + b4 + c4 -          - 

(A) 0      (B) 2       (C) 1       (D) 3 

  

53.        স         ল        20%              ল       10%   ড়    ল  ।           ল    ল 

(A) 5%       (B) 6%        (C) 8%        (D) 10% 

  

54.      স           ল 216            .স . . 27;  স          ল 

(A) 108, 108       (B) 54, 162       (C) 27, 189       (D) 81, 27 

  

55.   8x² + 2x - 3 -                  

(A) 3x + 4      (B) 2x - 1       (C) x - 1      (D)      ই    

  

56.  ,  0.01,  0.001     0.0001 -    .স . .  ল 

(A)         (B) 0.01        (C) 1       (D)      ই    

  

57.        স   ও  

(A)        (B)       (C)        (D)      ই    

  

58.      - 3 ≤ x ≤ 3     x         স       ,     x + 2 < 1 -   স       ল 



(A) - 3, - 2        (B) - 2, - 1       (C) - 1, 0       (D) - 2, 0 

  

59.  2       5   ল                   ল          ল       ল ল   25%     ? 

(A) 50            (B) 60   স         (C) 40   স         (D) 70   স  

  

60.  a     18 -   ল.স . . 36      .স . . 2   ল a = 

(A) 1      (B) 2      (C) 3      (D) 4 

  

61.   -        স         

(A) 2      (B) 3       (C) 4      (D) 5 

  

62.          স                a%     b%   ড়     ।                  ও     ড়     

(A) (a + b)%      (B) %      (C)       (D) % 

  

63.  270    A, B     C -                            ল, A      

(A) 70      (B) 80       (C) 90      (D) 100 

  

64.              ,       

(A) x -   স               (B) y -   স               (C) xy -   স               (D)   ক 

  

65.  Kx² + 4x + 1 = 0 স             ল           স      ল 

(A) K < 4        (B) K > 4       (C) K ≤ 4       (D) K ≥ 4 

  

66.  n1 স     স       ড় M1     (n1 + n2) স     স       ড় M,      n2 স     স       ড়     

(A)        (B)       (C)        (D)      ই    

  



67.  4             ল  ঐ   3              ল ল      

(A) 25%       (B) %       (C) %      (D) 40% 

  

68.  (x² - xy), (x²y - xy²)     (x³ -xy²) -   ল.স . .        A     B   ল,     A = KB   ,     K = 

(A) x (x + y)       (B) x (x - y)       (C) y (x + y)      (D) y (x - y) 

  

69.   x4 + px² + q -              x² + 2x + 5   ল, p     q -              

(A) - 2, 5      (B) 5, 25      (C) 10, 20      (D) 6, 25 

  

70.         ,     bx² - ax + b = 

(A) 0      (B) 2b      (C) a      (D) 2ab 

  

71.         ,      = 

(A) 3a       (B) 0       (C) a      (D) 2a 

  

72.              স             10%               । ঐ                স     1000   ল, 2         

  স         

(A) 1201        (B) 1100        (C) 1200        (D) 1210 

  

73.         ,       -       

(A) 8       (B) 6        (C) 4       (D) 2 

  

74.  x³ - 3x² + 3x - 7 = (x + 1) (ax² + bx + c)   ল a + b + c = 

(A) 3       (B) 4        (C) 12       (D) - 3 

  

75.      h, s     v     ল                          ,     ল       ল                    ,     

3πvh³ - s²h² + 9v² -      - 



(A) 16π       (B) 0        (C) 4π        (D) 32π² 

  

76.  r    স                                                               ল  ল 

(A) r²      (B) 2r²       (C) √2r²       (D)  

  

77.                           C                    AB      স           ।     ∠ ACB = 

(A) 60°       (B) 45°      (C) 30°       (D) 90° 

  

78.         ল                  64 : 27   ল           ল       ল         

(A) 1 : 2       (B) 16 : 9        (C) 9 : 16         (D) 2 : 3 

  

79.      3x - 5≤x - 2   ,     10x -   স              

(A) 10      (B) 12      (C) 15      (D)      ই    

  

80.   A ও B                            24,000      ও 30,000              স          ।   5   স     A 

  ও 4,000         স                 ।                   27,716      ল    ল,               ল     

        ল 

(A) 79 : 90      (B) 69 : 80     (C) 59 : 70      (D) 89 : 60 

  

81.  A ও B   স    12              স      , B ও C      15         , C ও A   স         20      

    । A, B, C                    

(A) 12           (B) 15           (C) 10    ন        (D) 9      

  

82.             স    120     /          স      -   স    210     /               ল              161 

    /                 ল     15% ল      ।         ’                  ল 

(A) 2 : 5      (B) 5 : 2       (C) 7 : 2       (D) 2 : 7 

  

83.       স             15%                   10%     ল স         স       । স                  ল 

(A) 18 : 23       (B) 25 : 37       (C) 10 : 9       (D) 3 : 5 



  

84.    ই         স          স          ল  স              ল 

(A) 89       (B) 86       (C) 87        (D) 90 

  

85.  33 - 4√35 -              ল  ল 

(A) √28 - √5        (B) √18 - √15       (C) √13 - √20       (D) √5 - √7 

  

86.                     স     8000                         10% ।                  স         

(A) 7406        (B) 8406       (C) 9406        (D) 5406 

  

87.     ল 

(A)        (B)        (C)          (D)  

  

88.  A, B -            B, C -          ল A : B : C     

(A) 1 : 3 : 6          (B) 2 : 3 : 6          (C) 3 : 1 : 2       (D) 3 : 2 : 6 

  

89.      ল x : y     

(A) 2 : 3       (B) 2 : 5        (C) 5 : 3        (D) 3 : 2 

  

90.      ল  -          - 

(A) 6      (B) 1       (C) 0       (D) 3 

  

91.                        স                4%, 5%     6% ; 1,00,000      3            

(A) 1,15,752   ক        (B) 1,15,520             (C) 1,20,000              (D) 1,10,000      

  

92.              5,000      2      6,050        , স             



(A) 12%        (B) 10%         (C) 8%        (D)      ই    

  

93.            10       স   - স ল         ।              

(A) 12             (B) 15           (C) 20           (D) 25      

  

94.       স       .স . . 6     ল.স . . 420 ;     স     12     30   ল       স      

(A) 21       (B) 18       (C) 42        (D) 70 

  

95.      ল             ল          5 : 4   ল          

(A) 15%       (B) 20%      (C) 25%        (D) % 

  

96.          ল abc -           

(A) 1      (B) - 1      (C) 2       (D) - 2 

  

97.  ,        x > 0,     ল x -           

(A) 5       (B) 8        (C) 0      (D) 7 

  

98.  x² + bx + c             স       ল 

(A) b² + 4c = 0       (B) c² - 4b = 0       (C) b² - c = 0        (D) c² = b 

  

99.          ল y -           - 

(A)          (B)        (C)       (D) 1 

  

100.  If         ল (x, y) -           

(A) (a, b)      (B) (a², b²)       (C) (b, a)       (D) (b², a²) 

 


